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REATS

F5 NGRS a3 &1
1 V4 T R 27 AU 3 1 BA UNE e SRR S
2 PO TR 22 B85 BT BA UNE IS E STBE S
3 RS ONE I GUE TN UNE IS E STBE S
4 FRARAE LR R 2 B € 12A UNEISCE S B 7E S
5 FRCARAE SRR 24 5 28 A UNEISCE S B 7E S
6 FRCARAE S R K 2 5 24 A UNEISCE S B 7E S
7 AT B TR 2 T B 3R 1A UNEISCE STBE S
8 V4 e R R 27 U 3 1 BA UNE e SRR S
9 FRARAE B LR R 2 B 2E 10FA UNE e SRR S
10 B A SR EPNE R ]I\ UNE IS E STBE S
11 PO TR 22 B85 26 A UNE e SRR S
12 FRARAE B LR R 2 B € 11 BA UNEISE S B E S
13 VAR ITIE R 27 U9 38 55 1BA UNE IS E S TB7E S
14 ENSEESUSIUE TN UNE IS E S TB7E S
15 FCH R R B LT B 1 BA UNE e SRR S
16 FRCARAE SRR 2 M 26 A UNE e SRR S
17 FRCARAE SRR 2 MU 229 A UNE e SRR S
18 ENINEPNES4UE - STUN UNE e SRR S
19 V4 R 22 87 38 20 B0 UNE IS E SRR S
20 SR ZE I 38 1BA X df 9 = 4542
21 VR A TH R S BB 3E 2 A [X $if 5 = S
22 VAR R 27 U9 38 55 20 X df 9 = 4542
23 VAR ITIE R 27 U9 3 54BN X df 5 = 4542
24 VAR ITIE R 27 U 3 55 50 X df 5 = 4542
25 ENINEPNESUE SN X df 5 = 4542
26 FRCARAE S R R 2 5 26 A X df 9 = 454
27 VA HRITIE R 27 U9 38 55 3BA X df 9 = 4542
28 BRI FE2BA X df 9 = 4542
29 HRBHOK 2B 288 BA X df 9 = 4542




30 EN IS E TN X 3 2F =254
31 SO BT B BB 3R 1 BA X 3 3% = %%
32 B R T o 2 B U 262 BA (X 3 3% = %%
33 S B T B BB R 2BA X 3 38 = %%
34 R RHE K B 2E5 A X 3 38 = %%
35 75 R K 2 T B 38 3BA X 3 3% =552
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